BEENBEFRER

SM5FE1281BHRE

EENLEERER

EEX R4 3 x 5 BiIE L
1 (4t FE Bk F BT & K £E 825 986 | 1,811 | —
2 |2 K BT W = fE| 1063| 1306| 2369| —
3 I NTFEMNEHKE288E 996 | 1,219 | 2215| —
4 |& X fE| 1,133| 1441 | 2574| —
5 (F - 0O B & B £ 265 308 573 | —
6 |F H %4 # EOE 229 246 475 | —
7 | BT RI A BT A = £B 834 947 | 1,781 | —
8 PR /NMNEREI=E 326 382 708 | —
9 |RRIZa=TFTasE2F—| 1,161 1,351 | 2512 —
10 BABERDMNERAKE E 672 749 | 1421 | —
11 |[ALFr—/LRaZa=F44&| 1,051 | 1,196 | 2247 | —
12 |BfaSa=F74st>%2—| 1013| 1153| 2166| —
13 | KMEAZa=-TstEo32— 589 681 | 1270 —
14 [N & @ % A 1284| 1535| 2819 —
15 | % B ©~ K £ 336 407 743 | —

a&t 11,777 | 13,907 | 25,684 | —
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